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[E e EX2f]
et = s 3 M3 =

H39ZE(RAAE | O~@ (M2 O~@ (HYI 5Y)

2) ® M1l ol oot EXtMEIESE= COHE | @ M1Eol 80 2t FAtMEIE == Ct3
20| B0 o siYste FAMUER LS| | 20| H=g0| o siYdt= FAHIE T LS
AHDItA(OYO| FEXHAEL =XABHS O | AHAIIA(O US| FXHAEL EXHASAHE o
b FHoto] wet FAUS A U2 L | 7 FESto] get FAUS AN U2 LhE
FH)O| E=ALMT|ZtO| 5 Fo FUSE | FH)0| EFA LTI +E Fo FAUCR
=g St}

1. Class Al =95 & 1. Class Al £=0/= 3

7t (42 7k (2

Lt EOfDIAtE =8 : A 1000&2] 9.0 L} THONS|ALE 48 : ¥ 1000£29| 7.75
Ct ~2h (4=h C}. ~2}. (A42h

2. Class C1 =95 & 2. Class C1 2=21=¥

7t (42 7t (g2

Lt HOjSjAtE 45 : ¢ 1000£2| 15.0 L. THOf3|AtE 48 : & 1000£2] 13.0
Ct. ~2t (&%) C}. ~2}. (A42h

3. Class C2 =95 3@ 3. Class C2 22153

7 (4Eh 7}, (M2h

Lt EHOiS|ALE 48 : ¢ 100022| 14.0 L} THOi3|ALE S8 ¢ 1000£9| 12.0
Ct ~2h (42 Ct. ~2h (82

4. Class C3 =95 # 4. Class C3 $9/=H

7t (42 7t (82

Lt EOfs|AtE =8 : A 1000&2| 13.0 Lp. EHORS|ALE S : o 1000£9| 11.0
ct ~2h (42h Ct. ~2f. (A2h

5. Class C4 =2Z# 5. Class C4 2953

7t (442 7t (4

Lp. EHORS|ALE 48 © ¢ 100022 12.0 L} EHORS|ALE S : O 1000£2] 10.0
ct ~2h (42h Ct. ~2f. (A2h

6. Class C5 =95 & 6. Class C5 2=21=3




7t (4= 7t (4=

o
Lt THOYSIALE S © o 1000£0] 11.0 L. HOjS[AlR S8 - & 100022 9.0
C}. ~2} (A2 Ct ~2h (4Eh
7~12. (AM2h 7~12. (3 5¢)
@ (Mzh @ (A =Y
® X 3 A 8 o= 41860 HN3gH 820z 2700 20124 1 8

75 219 419
10 Y= E{9| Class C-e $QI§-T‘ H482 Che | 10 °'='E1°| Class C-e T°'§ﬂ 2E2 O
Z S0 Hote Hiet 20|
3 2014 18 10 2SE HEPIPIERY | 3 204 18 10 °E'$E1 ME |2t E R Y
MK THK|

) 7t (d=h
Lt BOS|AFE 48 : ¢ 1000£2| 10.0 L} THOR3|AFE 42 : ® 1000£9| 9.5
Ct. ~2f (4= Ct. ~2h (4=

g % ¥ 3 3 3 3
H2%. 5. 2gHEol0| MY JEoR UA
oot Argt
N25. 10. HEFEX7|Fel | - o] FEXtilEel MA =& HEE2 |- O FEXHMES MHHN +=E Hasd2
e 1202%2 6582 & 3 =0 diFEl= | 1195%2 665 T 3 s=0 L=
4) o] HEXZ|FO & | =F( Ef* =2 Yo EXYEE KXY | =ECHE 22 @)l FAf™E XY
oot AR 8 2 syt S
H28. 13. 24 8 =7 | * Class Al * Class Al
of 25k Apt O S|ALE =& : ¥ 0.9000% oTHOSALE S - A 0.7750%
* Class C1 * Class C1
TS AE g - & 1.5000% TS AIE =2 - ¢ 1.3000%
* Class C2 * Class C2
TS AIE g 0 & 1.4000% TS AIE =2 © ¢ 1.2000%
* Class C3 * Class C3
THORS|ALESE - O 1.3000% HOfS|AtEF © A 1.1000%
* Class C4 * Class C4
TS AIE S8 0 & 1.2000% TS AIE =2 © ¢ 1.0000%
* Class C5 * Class C5
TS ALE S - & 1.1000% TS ALE =2 0 & 0.9000%
* Class C-e * Class C-e
TS AIE g 0 ¢ 1.0000% TS AIE 2 - ¢ 0.9500%
A3e. MuEx|nel o Y Y AN 7IEeE A
S 3 eguNso e




-

~ 10l o
ol or N
=
. <
o o o |_A_|||_ % E
X P X o o o
o3 3 S KE o =}
~ o LN ~ |
™~ m o) va {[n
=l 0 ° i o ol ) o3
=0 8l 8l 3l < Kh
. . . 1 <k
i %0 N
ot ol ot on
O_ _|_L —_ 10
KK <H <H <H o ol >
= —~| H] —~| ] ¢l o K =0
T D I I 4 B =t “ or
ol 7| ol Al ol | ol X0 <+ u[l .
70 O = O = O = Ho = I
3 ol B ol B ol B N ™~ u
Kl * R * ER x E il _A_l _|_“D -
~ Tod o
ol of -
=
= =
™ M AT
il X =]
— N
N N N o o o
= =) o o KH o [
K. o o o 2 7
o (@) o N
o L0 S ~ {[n
o — — —, K _
K0 ol o3
8l 8] 8l <l Kk &+
20 .. .. .. Pl H
ot ot ot il
_|_L — 10
<k <k <k o= O =y
— |H_M — mll P |H_M a EE <0
D S =1 A = « or
al 1o al o al 1o %0 <f 4 -
o =y I v =y | =y bo ™ M T B
« | & « | & x| = w1 KF ro o
= R0 "
I K oF
3T N ol uk = nE
>3 10 ~ oT B 1
E_m M .._A.ﬂ or| o1 - > B o
mu ol T + ~ K- oF ulo
o ™ | 5| S >3 Ar R o =T_AT -
= . T = - w X 0
TR E hARE TS = 3 o I
: : 1 1l = K >3
| o I < - 10 KD w w K-
w ¥ @ ook T S| |® Lo Uk _ o U
| ® ™ & Ol | — H H o = 5 H "




